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1. LURME—T5/2 IBM CoolBlue AE&E HAIHT ) = K4 ?

A. IBM Active Energy Manager. HERER I RG . KBTI e ds
B. IBM Active Energy Manager. [ 1#c#as. KHEREAH RS

C. KM ER. RERXBEARHRGR. JaI 1A

D. #iZlr. AT RIS ds

Answer: C

2. URHE—I2 (IBM PPAhFRR) MIaiAk?
A. FELEERTEEN T

B. st fRik R

C. Gl Z i 5 3 SR

D. DAE#Z

Answer: D

3. —FKAHHEARAFN CIO IR T —H T HEAF, BB T HNU AR =2+ )\ H IE B HAR TR
A HE SR 2 LA ZER A B

(1) ¥ —3K Opteron AMD flkd54s, 1ZIRSGSHEREBAE) 3 Hiztr, JFHARITIRE 4 BRR.

(2) HEFE VY (4) BE1 Intel B 3.5GHz R%5#s, FEHRETHHE] 16 B4 .
VREEHERE IR 25 2 TR e 2

A.1BM x3755 il IBM x3850

B. IBM x3650 F IBM LS41 J]J iK% &%

C. IBM x3655 FI IBM x3650

D. IBM x3755 #1 IBM x3950

Answer: D

4. IBM Systems & Technology & 35K )3 Al 2 «
A, SEDLESET. BB IS . IR L
B. &fF. BIMLMAES RS

C. %, &1, BERNA

D. JFil. BEFNAE. AR
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Answer: A

5. Virtualization Manager i — il & & VBN TESCHEN R 1] HL & P S (i i, JF
HA G H?

A. HP

B. Unisys

C. Dell

D. IBM

Answer: D

6. IBM. HP FI Dell #2451 2U AR5 2% K1 X Al A4 2
A.DIMM i

B. #R K

C. ki st

D. #JEikiE &R A%

Answer: A

7. NEAERE R D T B R SS d s ISR S AR MO B R, TR AR SR RN AT
FCEIAG.  F/EKR IBM 7E 48 PN AL R, System x #HEEL SR SER A FIRIULAE, AT
TR S HIPL IR K

A, TESRIES, R 48 /NEERGAE, Toihgs IS R T R

B. BHZES, TR, IF4 e BRI %

C. fili I B i P BR AR B B 45

D. BERZZ/ IBM 2 R, ANZIEAER T I BORRRN GL#AT ik, BORILR IR

Answer: B

8. F PN MR B S R AT H IR IR IR, AL N CUHER System x RS AR K Fh &
12

A R 7 E AR E AL B AR E

B. System x (KA IE & #EAT M4 fE
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C. IBM System x3950 Iz %5 # “BaE 1K RIS AT B ek
D. FIH H#E®4A System x 5528 MG IR 554

Answer: C

9. —AMNEFIEERIREARN G, 1Z& P BRSNS Intel IR FWITHEIE.  UFH—D0i5Z%
VK REAEY)?

A. PR THE

B. Active Energy Manager

C. I KVM

D. R4EH

Answer: D

10. —ANESTHRMERIE T HP ProLiant ARG #5A1 EMC 726k fhe 7RSS SR ANAEAE = B IO TC & 156 ) 7 T
BEPE] SRR . BT RN DU IR R, SREREERL 1IBM?

A. Z% IBM K ServerProven itXil, W] LL#TRZS T ARAREE B R =TJ7 7 i

B. IBM & e AU R, JF EDRE IR 77 7 il R A

C. IBM A0 B 1BM 7= il DL & L 7 7 1) AR 25 2 7 i

D. IBM (¥R 55 853501152 IR 1BM 7 i DA R LB (I N R A7 o

Answer: A
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